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QUESTION 1

If a user is having trouble accessing a specific intersection of data on a form that opens without error, which three
actions can an administrator take to help troubleshoot the problem? (Choose three.) 

A. Run a system report on Access Control 

B. Confirm the user\\'s/group\\'s dimension access rights 

C. Set Dimension Administration auditing within System Reports 

D. Run Application Diagnostics 

Correct Answer: ABD 

A: Reporting on Access Permissions 

You can view current access permissions and print reports. To report on current access permissions for 

users and groups in the application: 

Etc. 

B: You can assign access rights to members, rearrange the dimension member hierarchy, and share 

members of the Entity, Account, and user-defined custom dimensions. 

D: To launch the application monitor: 

Click the Navigator icon , and then under Monitor and Explore, click Application Diagnostics. 

Etc. 

References: https://docs.oracle.com/cloud/latest/pbcs_common/PFUSA/reporting_on_access_permissio
ns.htm#PFUSA-planning_fuse_admin_book_cloud_135 

 

QUESTION 2

What is the correct sequence of steps for enabling each business process framework? 

A. Enable the framework, refresh the database 

B. Enable the framework, configure the framework, run post configuration tasks 

C. Configure the framework, refresh the database 

D. Run pre configuration tasks, enable the framework, configure the framework 

Correct Answer: D 

 

QUESTION 3
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What is a navigation flow? 

A. Functionality that enables running multiple business rules in a predetermined sequence 

B. The application home page that users will see upon logging into the application 

C. A type of report that shows variances by geography 

D. A way to promote a plan to your supervisor 

Correct Answer: B 

Navigation flows give application designers control over how various roles, or groups, interact with the application. The
Navigation Flow Designer enables you to customize the application interface. For example, you can change the names
of the cards and clusters that display on the Home page and the order in which they are displayed. You can hide cards,
create new cards, and group cards into clusters. 

You can also customize the vertical and horizontal tabs that display on a card. 

References: Oracle Cloud, Administering Planning for Oracle Planning and Budgeting Cloud, page 7-1 

 

QUESTION 4

A group of users wants to see last year\\'s actuals as a reference when inputting their next year forecast. Which two are
recommended methods for creating this web form display? (Choose two.) 

A. Create two simple web forms ?one for last year\\'s actuals and one for next year\\'s forecast 

B. Create a composite web form ?one form displays last year\\'s actuals and one form displays next year\\'s forecast 

C. Create a navigation flow with multiple web forms displayed across vertical or horizontal tabs in a card 

D. Create one simple web form displaying the forecast and a report displaying the actuals 

E. Create a custom dashboard with a split canvas ?one area shows last year\\'s actuals and one area shown next
year\\'s forecast 

Correct Answer: CD 

 

 

QUESTION 5

When calculating a tiered type of tax, what should be the selected `Maximum Value Type\\'? 

A. Threshold Amount 

B. Percentage of Taxable Earnings 

C. Percentage of Salary 

D. Flat Amount 
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E. Percentage of Overall Earnings 

Correct Answer: A 

Setting the Maximum Value Type to Threshold Amount is available only for Taxes (not Additional Earnings or Benefits).
If the Maximum Value Type is set to Threshold Amount, then the threshold of each tier drives the tiered calculations.
The application applies all tiers to the default assignment, as appropriate, regardless of the tier assigned as a default. 

References: https://docs.oracle.com/cloud/latest/pbcs_common/EPBCA/wf_about_maximum_value_typ
e_110x00c2886b.htm 
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